BOARD OF SECONDARY EDUCATION KARACHI

MODEL QUESTION PAPER
$.5.C. (ANNUAL) EXAMINATIONS 2023

MATHEMATICS (CLASS X) PAPER Il
(GENERAL GROUP)

REGULAR & PRIVATE CANDIDATES
Time: 3 Hours Total Marks: 75

SECTION ‘A’ (20%)
MULTIPLE CHOICE QUESTIONS (M.C.Qs) (15 Marks)

Q.1 FIFTEEN (15) MCQs WILL BE GIVEN FROM WHOLE BOOK. EACH QUESTION CARRIES 1 MARK.

SECTION “B” (40%)
(SHORT ANSWER QUESTIONS) (30 Marks)

NOTE: Attempt any (06) questions from this section. All questions carry equal marks.

Q.2  Evaluate by using a suitable formula (403)?
o2 1 N O ,
Q3. ifA= [3 6]' B = [2 0], then find the value of AB.

Q4  Using formula find the continued product (x + y)(x? — xy + y?)(x — y)(x? + xy + y?)
Q.5 Constructa APQR, in whichm PQ = 5 cm, mzP=70°and m«Q=50°

Q.6  Find the value of with the help of formula. (535)? — 2(535)(485) + (485)2

Q.7  Find the value of a® + b?, whena+b =5,ab =6

Q.8  Find the value of x3 — x—13 when x — xi =4
2 3 .
Q9 If A= [5 6]then find A

Q.10 In triangle ABC, m£C=90°, mAB=10cm, mBC=9cm. Find the length of the third side mAC by
Pythagoras theorem.

Q.11 Define the following (any two)
(i) Angle (ii) Supplementary angles (iii) Parallel lines

SECTION “‘C’ 40%

DESCRIPTIVE ANSWER QUESTION (30: MARKS)

Note : Attempt any three (03) questions from this section. All questions carry equal marks.

Q.12  Factorize the following (any four)
(i) 4ab — 8ca — 6ax  (ii) 25a% — 20ab + 4b? (iii) 81a% — 25b?
(iv)x*+64 (vV)x2+7x+10 (vi)a® +8

(4.49)3+3.51x3.51x3.51
4.49X4.49—-4.9%3.51+(3.51)2

Q.13  Evaluate with the help of formula:

Q.14  Acircle is of 6 cm radius. Find the length of a 60° arc of the circle and also the area of the sector of the
same circle.
Q.15 The measures of the central angle of the minor arc of circle is double the measures of the inscribed angle
of the corresponding major arc. Prove it.
Q.16  Find the solution set of the following simultaneous equations:-
3x+ 5y=28
6x + 10y = 16
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(iv) x* + 64(v) x> + 7x + 10 (vi)a® + 8
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3x+ 5y=8
6x + 10y = 16
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